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Question 1.Select the related word/letters/number from the given alternatives.
&3 Iy fareneal & @ Farfewre Qree)/ 316RI/EEaT T giav|
Paw:Cat::Hoof:?

Gl : Tl e s ?
Options:

1) Man

3meAr

2) Elephant

grelr

3) Lion
W

4) Horse
Er

Correct Answer: Horse

et
Candidate Answer: [ NOT ANSWERED ]

Question 2.Select the related word/letters/number from the given alternatives.
e ar Fehedit 3 & HarfetreT Qree/ 3ER/EEdT I AT

JMPS : ADGJ :: QTWZ : ?

Options:

1) OLRU

2) LORU

3) LOsU

4) LPRU
Correct Answer: LORU
Candidate Answer: LORU

Question 3.Select the related word/letters/number from the given alternatives.
e I Farehedit & Harferel 2reey 31&R/HEAT H AT

841:29::289:7?

Options:

1) 23

2)21

3)17

4) 13
Correct Answer: 17
Candidate Answer: 17


http://thepracticetest.in/challengesystem/logout.php?appid=1a4fff78943b24af40c79deccf09bb87
http://vacancycollection.nic.in/sicpochallenge16/sendrollno.jsp?rollno=7001734021
https://www.toprankers.com

Question 4.Find the odd word/letters/number pair from the given alternatives.
&3 a3y faehedl & @ fawa rse/ Jer/aear oA giav|
(A) Violin (B) Piano (C) Flute (D) Harmonium

(Ayaraferst (b) T (C ) Sl (D) gRATATH

Options:
1)A

2)B
3)C

4)D
Correct Answer: C
Candidate Answer: C

Question 5.Find the odd word/letters/number pair from the given alternatives.
&3 Iy fareneal & @ T eree) 3rery/dEar oA giav|

(A) ZVR (B) ZYX (C ) QMI (D) IEA

Options:

1)A

2)B

3)C

4)D
Correct Answer: B
Candidate Answer: B

Question 6.Find the odd word/letters/number pair from the given alternatives.
&3 I fashedl & @ fawer eee) HaR/wEar Z9A gfAv|

(A) 24 (B) 49 (C) 64 (D) 81

Options:

1)A

2)B

3)C

4)D
Correct Answer: A
Candidate Answer: A

Question 7.Arrange the following words as per order in the dictionary.
rfaf@d erel #I eeemier 7 foT v &a & 3ejar AT ?

1. Incompatible 2. Incomparable 3. Incongruous 4. Inconsistent
Options:
1)2,14,3
2)3,4,2,1
3)4,2,1,3

4)2,134
Correct Answer: 2,1,3,4
Candidate Answer: 2,1,3,4

Question 8.A series is given, with one term missing. Choose the correct alternative from the given ones that will complete the series.
TS 9o & Ueh 31eTehe 18T 8, Toras Ueh ue oo €1 U 910 fenedl & & a8 T fashod Giaw St 31eTshal 1 QU el § ?

dem, fgo, hig, ____



Options:
1) jkt

2) ikp
3) jks

4) kit
Correct Answer: jks
Candidate Answer: jks

Question 9.Which number will complete the series?
fArafaf@a fafeedt # & a5 dear gfaw 3t gea # & 15 AR &1 g el ?

1,8,27,64,125,216,
Options:
1) 354

2) 343
3) 392

4) 245
Correct Answer: 343
Candidate Answer: 343

Question 10.A man said to a lady, "Your mother's husband's sister is my mother." How is the man related to the lady.

T oY & Th AfGe A e, " TR AT o 9fet P TgoT A AT &1 36 I 1 39 Aol & 7 Fer g ?
Options:

1) Cousin

EEREIS

2) Brother

IS

3) Son

e

4) Nephew

e

Correct Answer: Cousin
EERES
Candidate Answer: Cousin

TR A

Question 11.The distance between two cities is 30 Km. A man goes at a speed of 30 Km per hour and returns at 20 Km per hour. What is his average speed?

ar 2Rt & o T gl 30 fon. . 1 v safad 30 R /eer iy arfar & S €, 3R 20 R aer i afe & arow smar 81 3w sttad aifa w2
Options:

1) 25 Km/hr

25 for. 3./ ger

2) 24 Km/hr

24 .3 / ger

3) 10 Km/hr

10 f5.30. / "er

4) 26 Km/hr

26 .30, /ger

Correct Answer: 24 Km/hr
24 5.7 / g

Candidate Answer: 24 Km/hr
24 R / gear

Question 12.From the given alternative words, select the word which can be formed using the letters of the given word:
el feweal # @ a5 eree IAT St 50 weat # 2T 210 ereq & &R F7 TANeT ek TN S Hehel T & 2

COMPANIONSHIP



Options:
1) OPEN

2) OPIUM
3) OPINION

4) NATION
Correct Answer: OPINION
Candidate Answer: OPINION

Question 13.If THOUGHT is coded as THGUOHT then THROAT will be coded as

I THOUGHT &t THGUOHT for@r Sirar &, at 33 s & THROAT &t ¥ forar saar ?
Options:

1) TAROHT

2) TAORTH

3) TAROHH

4) TAORHT
Correct Answer: TAORHT
Candidate Answer: TAORHT

Question 14.If (—) stands for division, (+) stands for multiplication, (<) stands for subtraction and (x) stands for addition, which one of the following equations is
correct?

T (-) T HTCT #1T, (+) T AT T[T, (<) T HTold e, IR (x) T ATold SIAT &, AT TGS H F hleT-H1 FHIAOT HET E ?
Options:

1) 100+5-10x250+200 = 100

2) 200+10-20%200+100 = 150

3) 50x5+10+100-75 = 50

4) 300+5-20%200+100 = 200
Correct Answer: 100+5-10x250+-200 = 100
Candidate Answer: 100+5-10x250+200 = 100

Question 15.If, 1*¥2=1,
2*3= -1 and
3*4= -5, Then find the value of 7*9="?

gfr1*2=1

2%3=-1

3*%4 = -5grar

7*9 &I HIT AT ST ?
Options:

1) -47

2)-29

3)-2

4) -9
Correct Answer: -47
Candidate Answer: -47



Question 16.Find the missing term in the following question:-

TFATET 92T 3 ofeet 37 Tl HIfsTT ?
s 8
b 27

Options:

1)3

2)9

3)1

47

Correct Answer: 1
Candidate Answer: 1

Question 17.A girl walks 30m towards south, thn turning to her right she walks 30m, then turning to her left, she walks 20m, again she turns to her left and walks
30m. How far is she from her initial position?

T ofshr afator i 3T 30 e =ewel 8, T a8 arfgelt 3R Fgant 30 e Torcl §1 fhe ot 3} Fgart 20 e =orclt ¥1 fhe & ary At 30X 35 30 e =rerel 81 31
a8 3 TRTFsh T & forerel g 8 ?
Options:

1) 20 mtr

20 A

2) 30 mtr

30 Alex

3) 50 mtr

50 #Hrex

4) 60 mtr

60 Hiex

Correct Answer: 50 mtr

50 #Hrex

Candidate Answer: 50 mtr

50 #rex

Question 18.Consider the given statement/s to be true and decide which of the given conclusions/assumptions can definitely be drawn from the given statement.
Statement: No man is a donkey. Ajay is a man.

Conclusion I: Ajay is not a donkey.

II: All man are not Ajay.

AR e & T I71 &) IFadey Y 313 &, foaeh 319 & faseny/aAaam, 1 3R 11 et a2 §1 39 faar et § &6 aordey acg € 9 98 O@ega: od da2ar a
et TcliaT &1 811 3m9en! Tt ahtarr § 6 T 910 aorded & & iar-a1 ARad &9 & Ty faseny/AladT fAehrer ST dehar § ?
FUA ; PG A I LT g | 31T 3T g

ISy ;1) 37T 19T A 81

11 ) Tt 31eal 3/ =181 8|

Options:

1) Only conclusion I follows

Fadl ey [ RAererar g

2) Only conclusion II follows

ol A5y 11 Fsherar §

3) Both conclusion I and conclusion II follow

At TSy fAsher &

4) Neither conclusion I nor conclusion II follows

AT Ar I AR A1 8 11 foreeny el §

Correct Answer: Only conclusion I follows

Fad sy I Aerar g

Candidate Answer: Both conclusion I and conclusion II follow

gt forsy ferera §



Question 19.Find the number of triangles in the figure.

& S JepTer o Frey Faager & 2

7{

Options:
1) 12

2) 14
3) 16

4) 18
Correct Answer: 12
Candidate Answer: [ NOT ANSWERED ]

Question 20.14 notebooks of a class were corrected with ink pen while 22 notebooks were corrected with colour pencil. If 4 notebooks were corrected with both,
what is the strength of class?

ey T 1 14 AeqF 5 ST & S 918, T 22 Aveq GheT SR I S 7| AR 4 e g At & S TS g, A AT F T R wEAT R § 2

Options:
1) 30

2) 32
3) 28

4) 25
Correct Answer: 32
Candidate Answer: 32

Question 21.Which answer figure will complete the pattern in the question figure?

it AN Scal JTHicT T JTpict & FIATET T T A ?




Options:

1)
1
i
|
1 [
2)
]
1]
|
3)
|
4)
Correct Answer:
I i
Candidate Answer:




Question 22.From the given answer figures, select the one in which the question figure is hidden/embedded.

& 91§ 3eaT JeHTat  F 37 e T A g Forwd yeaT smpfar Ak & 2

Options:
1)

Pl AN
S

|

|

|
e,
M

2)

3)

4)

i

\
L
\

Correct

Answer:
Wi
NAPZEANE

Candidate Answer:

P




Question 23.A piece of paper is folded and cut as shown below in the question figures. From the given answer figures, indicate how it will appear when opened.

afe; el et 1 P et 3 R R JTHR AlSa et AT ekt & dTE a8 8 Seak A SFaT s &am ?

T,

L
Options:
1)
e
2)
]
|

—Ta PoTeC

’a N
[i 1
L ola

\O v’

o "4
3)

Fal e

y
(el 1)
\ Llola | )

\ ] '° /
4)

v r N
¥ ind i \
NP1

o N -
Correct Answer

|
|

—Ta PO e
fa 3
[i 1
LY ol
e, 5 W

i o r?"\"
'ﬂ |
[i 1

A ola
\O v’y
o 4




Question 24.If a mirror is placed on the line MN, then which of the answer figures is the right image of the given figure?

I Ta GO & MN @ TR T@T ST ot & 918 3ecik 3 Tcrar 3 F Hlat-21 Jied TeaT 3THted &1 T gfcfes gt ?

MZst 2 £ 2 2 /N

SY
Options:
1)
|
L\ 1P
X
{
A
2)
—3‘5-)
\-r
TN
i
3)
y
l-\]
N
4)
N l
|
7) i
N
I\ /|
Correct Answer:
i
U/ I
7)
N
I\ / |




Candidate Answer:
I

wy

Question 25.In the question, a word is represented by only one set of numbers as given in any one of the alternatives. The sets of numbers given in the alternatives
are represented by two classes of alphabets as in two matrices given below. The columns and rows of Matrix I are numbered from 0 to 4 and that of Matrix II are
numbered from 5 to 9. A letter from these matrices can be represented first by its row and next by its coloumn,e.g., A can be represented by 14,21,33 etc., and P can
be represented by 56,75,87 etc. You have to identify the set for the word 'ARTS'.

Frafarld wea ¥ et 7 BT aTv dear-wegg, 318RT & & a9t gan i a1w §, SR 3 i) e a1w & smeggt 1 €1 amep 1 & s s affa M aem o a4 aw &
TS B, 3 3SR 11 & 5 9 e, 37 TSR & T 38R 1 Tgel 36T Gfad 3R a6 ¥ T HEAT SarT GRATAT 311 FehelT §1 3616307 & foIT, A &1 14, 21, 33 371f% ganr
SRITT ST HhelT § AT P &1 56, 75, 87 311 GaRT GRITT ST Hohell &1 S ¥ W 319! 4T 21eq 'ARTS' & oIT Hagg ot qgaitatett 81

Matrix-1 Matrix-11
0 1 2 3 4 5 6 7 8 £l
0 B H A R T 5 5 P E A K
i R T B H A 6 A K S P E
2 H A R T B 7 P E A K 5
3 T B H A R 8 K 5 P E A
4 A R I B H 9 E A K 5 P

Options:
1) 02, 12, 22, 67

2) 40,41, 42,78
3) 95, 34, 23, 86

4) 65, 22, 23, 67
Correct Answer: 65, 22, 23, 67
Candidate Answer: 65, 22, 23, 67

Question 26.During whose Viceroyalty, the capital of India was shifted from Calcutta to Delhi?

R ITRIRERTT & FIRTE & &Rl R & AT hefehedl ¥ TR e ool gaif ?
Options:

1) Lord Canning

oS hfelar

2) Lord Harding

s gifdar

3) Lord Lytton

CIEACC

4) Lord Clive

GEECIES]

Correct Answer: Lord Harding

s gifdar

Candidate Answer: [ NOT ANSWERED ]

Question 27.Who among the following was the court physician of Kanishka?

AFATITET # A Tl HfoTsh & TordeT I ?



Options:

1) Vasumitra
g

2) Nagarjuna
A

3) Charaka
Wh

4) Patanjali
qoestelr
Correct Answer: Charaka
Th

Candidate Answer: [ NOT ANSWERED ]

Question 28.The region which is a water divide between the Ganga and Indus river systems is

FraTT-oAEY A THY-77ET o & iy hler-ar &7 § ST o817 &l §Ueh AT ¢ ?
Options:

1) Haridwar

#Rear

2) Namchobarva

AT

3) Alakananda

3cTehelocl

4) Ambala

STl

Correct Answer: Ambala
STl

Candidate Answer: [ NOT ANSWERED ]

Question 29.Subordinate courts are supervised by

3TNATEY FITTeraY T THAETOT hled HIAT & ?
Options:

1) Supreme Court

FTATH ~AR—TT

2) District Court

e =aTTerT

3) High Court

3T ™A

4) Parliament

pararcy

Correct Answer: High Court
T ST

Candidate Answer: [ NOT ANSWERED ]

Question 30.Which of the following is the world's top environmental conservation award?

rafaf@d # & e -1 faee o Fdfeer 'adavor TRefor TEar’ § ?
Options:

1) Golden Bear Award

Moz faa grEhr

2) Golden Panda Award

aMeseT qisT RERR

3) Golden Globe Award

Mg Tolid ERR

4) Golden Palms Award

alese Ul JIEhR

Correct Answer: Golden Panda Award
Mg disT [TERR

Candidate Answer: [ NOT ANSWERED ]

Question 31.A galvanometer can be converted to a voltmeter by connecting

FreaaielieT =, [Faw S R, alecHiex F yRafdd fFar s Gehar g ?



Options:

1) a high resistance in parallel

FHEAR 7 3T FfaRier

2) a high resistance in series

Aoft 7 3= gfaer

3) a low resistance in series

Aot 7 369 gfoRrer

4) a low resistance in parallel

FHAR # 3767 FiaRIer

Correct Answer: a high resistance in series
#oft 7 3= gfaier

Candidate Answer: [ NOT ANSWERED ]

Question 32.Bee sting contains

HYHAFET & 5 H FAT AT ?
Options:

1) An acidic liquid

3IFT AT

2) a salt solution

AGUIRT el

3) an alkaline liquid

ST et

4) a corrosive liquid

HEIR el

Correct Answer: An acidic liquid
3IFNT AT

Candidate Answer: [ NOT ANSWERED ]

Question 33.Which scheduling service is used to handle traffic with different priorities?

et e TTAfAedT3t & Tt & HROT SRk 1 HHTewt & fow Slar-3i Riggfier afdw & vaier fmar s § 2
Options:

1) Traffic management

¢fther FAasAve

2) QoS traffic scheduling

g 37 vH ¢t Riggfoler

3) QoS Scheduler

4) Qos Manager

- 3T T AR

Correct Answer: QoS traffic scheduling
Candidate Answer: [ NOT ANSWERED ]

Question 34.The outer most layer of Sun is known as

I T FTH 3L O T FAT Fed § ?
Options:

1) Chromosphere

FIATERIR (FoT Fzel)

2) Photosphere

TRIRT FHST

3) Radioactive zone

BEDIYErC R ICY

4) Corona

FRIT (fRde)

Correct Answer: Corona

FRIT (Fde)

Candidate Answer: [ NOT ANSWERED ]

Question 35.Highest percentage of carbon is found in which form of coal?

P & FT 79 F FhdH YTAAT FIeT =T AT & ?



Options:

1) Anthracite

TYrEe

2) Bituminous

g

3) Peat

dic

4) lignite

IGCoIE

Correct Answer: Anthracite
VYT

Candidate Answer: [ NOT ANSWERED ]

Question 36.Which country has the largest internet users?

FieT I 22U F AT Seelale IUANT HAT § ?
Options:

1) USA

TYFT T 3FIRT

2) China

ot

3) India

AR

4) Russia

*q

Correct Answer: China
T

Candidate Answer: [ NOT ANSWERED ]

Question 37.The xylem in plants are responsible for:

gt 7 SgferT & 3uRRfa @ Mefaf@a A a FTgars ?
Options:

1) transport of water

STl T dget

2) transport of food

T Jere & aget

3) transport of amino acids

AT 31T HT T8I

4) transport of oxygen

TSI T dgeT

Correct Answer: transport of water
STl T gl

Candidate Answer: [ NOT ANSWERED ]

Question 38.Which of the following cities is the new capital of Seemaandhra?

farafaf@d & 3 FleT ar e DAY A 73 Tt gef ?
Options:

1) Amaravati

SFRTEAT

2) Secunderabad

RiETRICI Y

3) Vijayawada

ICEECIE]

4) Vishakhapatnam
[ERICIRETE:

Correct Answer: Amaravati

AT
Candidate Answer: [ NOT ANSWERED ]

Question 39.Which State Government has recently abolished "agriculture income tax’

o T TR o g1l 61 3 ' HI-FH FAC I feamr § ?



Options:

1) Karnataka

Fetleh

2) Rajasthan

RS e

3) Bihar

[EE

4) Asssam

A

Correct Answer: Karnataka

Felleh
Candidate Answer: [ NOT ANSWERED ]

Question 40.Which of the following is not a method of estimating national income?

fFAfaf@d 7 & HiA T TSERT 3T & 3Theled H TgTd 81 § ?
Options:

1) Expenditure method

=7 ggfa

2) Output method

ESICC R

3) Matrix method

HIHT (T JoTelr

4) Income method

I T fa

Correct Answer: Matrix method

AT (T JoTel

Candidate Answer: [ NOT ANSWERED ]

Question 41.If the name of a tribe has to be excluded from the list of Scheduled Tribe, who has the power for such exclusion?

I el SIeTonfer &7 31T Sievoncl &hr T I fIaTereT gF o U adet 3 erferT ey oot § 2
Options:

1) President

aegafa

2) Parliament

ESRicY

3) National Commission for Scheduled Tribes
TG JeTHeIT Sfefsiic 3T

4) Union Council of Ministers

g & FIIRYG

Correct Answer: Parliament

pararcy

Candidate Answer: [ NOT ANSWERED ]

Question 42.Project 'Sankalp' started for the purpose

Hehod' RIS ohT TATeTeT & 3RS Y 7S o ?
Options:

1) To eradicate illiteracy

TERERT Seopelt & fow

2) To eradicate Polio

qferaT 3eerT & fou

3) To eliminate AIDS/HIV

TSH (TH S dY ) TATCT el & folw

4) To eliminate unemployment

ISR TFATCT A & forw

Correct Answer: To eliminate AIDS/HIV
TSH (TH TS dY ) FATCT et & folw

Candidate Answer: [ NOT ANSWERED ]

Question 43.Ring of Fire is found commonly in

SATTHE TSTHTCT HH: Hel IS ST & ?



Options:

1) Pacific Ocean

IR AGTARR

2) Atlantic Ocean

3Jedlifed FERPR

3) Indian Ocean

fBeg HgrER

4) Arctic Ocean

3Thfesh FERPR

Correct Answer: Pacific Ocean
elled FGRIIR

Candidate Answer: [ NOT ANSWERED ]

Question 44.Which of the following bacterium causes crown gall disease in plants?

el # & iy @ Shramoy & et 7 ' frlie AR Aer gy S ?
Options:

1) Bacillus thurigiensis

Aferew gffomfew

2) Agrobacterium tumefaciens

3) Pseudomonas fluorescens

A gfadita

4) None of these

EREREIE

Correct Answer: Agrobacterium tumefaciens
Candidate Answer: [ NOT ANSWERED ]

Question 45.Eustachian Tube is located in which part of human body?

TEIHT ATferehT AleTd R & foray 1T 7 T giev 8 2
Options:

1) Nose

TR

2) Ear

hlel

3) Eyes

kiicy

4) Throat

el

Correct Answer: Ear
hleT

Candidate Answer: [ NOT ANSWERED ]

Question 46.Which part of the brain plays an important role in motor control?

FARETSER T FleT AT AT AT THAT0T 37 FgcaqT AT 3eT FAT & ?
Options:

1) Cerebellum

AR (IHJAETSH)

2) Cerebrum

FARHA ( TARETSH)

3) Medulla

agen

4) Pons

Sicx:)

Correct Answer: Cerebellum

ARSI (I ATETSH)

Candidate Answer: [ NOT ANSWERED ]

Question 47.The frequency of direct current is

fese 4y &1 Agiea g?



Options:

1) Zero

T

2) 50 HZ

50 g<of

3) 60 HZ

60 8T

4) 100 HZ

100 g&st

Correct Answer: Zero
T

Candidate Answer: [ NOT ANSWERED ]

Question 48.The veda which deals with the rituals is known as

et AT e nffih Teaml & Gaer [WT g ?
Options:

1) Rigveda

ETLLA

2) Yajurveda

Forde

)

3) Samaveda
HHIG

4) Atharvaveda
3dag

Correct Answer: Yajurveda

Forde

)

Candidate Answer: [ NOT ANSWERED ]

Question 49.Prime Minister's 'Ujjwala Yojana' is related to

TENeT HAY T ' Ioodell AT had FaRT & ?

Options:

1) Free distribution of LPG connections to socially backward classes.

g &9 & Ao gt & va, 91, o A9 & Taror &

2) Free electric connections to members of Scheduled Castes and Scheduled Tribes.
FAHrAI ST 3T IR STaTrict o TewaT l fel:eoeh fasTell & halereiet &1 &

3) Mass immunisation campaign for children.

S T e T I TIARETOT & o= &

4) None of the these.

AR A R A AETE

Correct Answer: Free distribution of LPG connections to socially backward classes.

e 30 & o goft & v, ). o A7 F JaRora
Candidate Answer: [ NOT ANSWERED ]

Question 50.'Agronomy' is the practice of raising

IR 3 FhEfehl Seetel TohdT ST & 2
Options:

1) Plants and Animals

et 31 TeEit

2) Crop plants

W aTer aiel &

3) Agriculture

HY T

4) Fruit plants only

adl Fell o dieT &

Correct Answer: Plants and Animals
et 3 et A

Candidate Answer: [ NOT ANSWERED ]

Question 51.The sum of two positive integers is 80 & difference between them is 20. Then what is difference of squares of those numbers ?

e &Y UeiTcHe: quite! &7 AT 80 § 31X 3eTahT 3faX 20 §, A 3o HEATIHT & 9T T e} FhcdeTT & ?



Options:
1) 1400

2) 1600
3) 1800

4) 2000
Correct Answer: 1600
Candidate Answer: 1600

Question 52.The difference between the selling prices of an article sold at 4% and 3% profits is [ 3. The cost price of the article is :

Tl a6 & 4% 3T 3% & ol o) S I Tk HodT 1 3ee U 3 B1 38 9 1 5 Fed Il ?

Options:
1) 11 400

2) 71350
3) 7300

4) 1 100
Correct Answer: (1 300
Candidate Answer: [ 300

Question 53.In a school there are 1500 students, 44% of them are girls. Monthly fee of each boy is (1 540 and fee of each girl is 25% less than that of a boy. The
sum of fees of boys & girl is

T Tl 7 1500 BT §| 37 F 44% TFRAT &1 9% w153 Al B 1) 540 § 3R Te a5t S B s Y B F 25% FA §1 a5 AR st Hr S
FATE?

Options:
1) 11 720600

2) (] 720800
3) [ 720900

4) 11 721000
Correct Answer: (| 720900
Candidate Answer: [ NOT ANSWERED ]

Question 54.The time for a train of length 110 metres running at the speed of 72 km/hr to cross a bridge of length 132 metres is

72 TR, 2. /der &1 a1fdl & Told arelr 110 T ofely ¢f &l 132 HIeT & Gel &l IR hel 3 ohelall T 1T ?
Options:

1) 9.8 sec

9.8 ¥&sq

2) 12.1 sec

12.1 ¥hsH

3) 12.42 sec

12.42 §HsH

4) 14.3 sec

14.3 FsH

Correct Answer: 12.1 sec

12.1 Thsg

Candidate Answer: 12.1 sec

12.1 ¥%sg



Question 55.
Simplify the equation

(0.73)3 + (0.27)?
(0.73)2 +(0.27)2 — (0.73)x(0.27)

(0.73)% + (0.27)°
(0.73)2 + (0.27)2 — (0.73)x(0.27)

Eay
ga ffsT ?
Options:
1)1
2) 0.4087
3)0.73
4)0.27

Correct Answer: 1
Candidate Answer: 1

Question 56. 1
If v+ -5 ,thenthevalueof 7, =
is " s

A x+ = = -2, + 2 H HA FI1 EEI?

Options:
1)1

2)-1
3)0

4) -2
Correct Answer: -2
Candidate Answer: -2

Question 57.In a circle, two arcs of unequal length subtend angles in the ratio 5:3. If the smaller angle is 45° then the measure of other angle in degrees.

'Teh god H, TIYH ST arel &Y =1, ol Y 5:3 & 3T H HAR L §1 TS BT HI0T 45° T &Y, &Y g@ HI0T H AT 47 greft ?
Options:

1) 75°

2) 72°

3) 60°

4) 78°
Correct Answer: 75°
Candidate Answer: 75°

Question 58.The orthocentre of an obtuse-angled triangle lies

Teh FARION AT T ol Shegs gl &9 2
Options:

1) inside the triangle

ager 5 ot

2) outside the triangle

ager 37 e

3) on one side of a triangle

et & Ua 3N

4) none of these

A A P AR



Correct Answer: outside the triangle
9T & aTe

Candidate Answer: outside the triangle
3876 & aeY

Question 59.If a.sin 45°.cos 45°.tan60° = tan245° - cos60° then find the value of a ?

I a.sin 45°.cos 45°.tan60° = tan245° - cos60° &Y, aT a & AT FATE ?

Options:
1)
1

V3

2)
V3

3)1

a)
38

2
Correct Answer:
1

V3
Candidate Answer:

V3

Question 60.Ganesh, Ram and Sohan together can complete a work in 16 days. If Ganesh and Ram together can complete the same work in 24 days. The number of
days Sohan alone takes, to finish the work is

oY, T 3R AT [Herer ol &1t 16 et 7 Q1 o Feohe 81 T aT0nRn 3R T Torent 38 &1 1 24 1&eT & QU X Hehel €, oY BIgeT 1 3ehol 3 HIH &l &lel &
fhcat et ot 2

Options:

1) 40

2)48

3) 32

4) 30
Correct Answer: 48
Candidate Answer: 48

Question 61.The radius of base of a right circular cone is 6cm and its slant height is 10cm. Then its volume is
(use N =22/7)
Teh ofd Jecl1g e T 3TN FHear 6 A, § 31k 35T fordeh Sem$ 10 L. &1 A 381 3Tcl=l 747 g1 ?

(M =22/7 FIARTHT)
Options:

1) 301.71 cm3

301.71 @33

2) 310.71 cm3

310.71 @33

3) 301.17 cm3

301.17 @33

4) 310.17 cm3

310.17 {303

Correct Answer: 301.71 cm3
301.71 {.#%.3

Candidate Answer: 301.71 cm3
301.71 @33



Question 62.A shop keeper allows 20% discount on the marked price on his articles. Find the marked price of an article for which he charges (1 740

Teh GHIER 3= T3 o 3ifohc e T 20% 1 Fe & &1 o a8 & ToIT a8 (1 740 Teia &, 36 & 1 Jifohd e Ad HIfS ?

Options:
1) 11725
2) (1875
3) 1925
4) [ 1040

Correct Answer: [ 925
Candidate Answer: [ 925

Question 63.A truck covers a distance of 550 metres in one minute where as a bus covers a distance of 33 km in 3/4 hours. Then the ratio of their speeds is :

Teh Zoh Teh TH=TC # 550 HeX T gl T &l ¢ STafeh a4 3/4 €6¢ # 33 T2, gt o7 il &1 SeTehl aTfey T 31Tl T & ?
Options:

1)1:3

2)2:3

3)3:4

4) 1:4
Correct Answer: 3:4
Candidate Answer: 3:4

Question 64.Seven years ago, the average age of A, B and C was 51 years. If A is 3 years older than B and B is 3 years older then C then the present ages of A, B
and C are (in year)

7 a¥ 9gel A,B R C o 3itac 3y 51 a¥ M afX A, BA3a¥ T 3R B,C A3 a¥ asT R, aT A,B 3R C ¥ aciemer 3mg (ast ) fpcelr & 2
Options:

1) 61, 58 and 55

61, 58 31k 55

2) 54, 51, and 48

54, 51, 3iT 48

3) 55, 58, and 61

55, 58, 3 61

4) 48, 51 and 54

48, 51 31k 54

Correct Answer: 61, 58 and 55
61, 58 3iX 55

Candidate Answer: 61, 58 and 55
61, 58 31 55

Question 65.If a2 + b2 + c2 = 14 and a + b + ¢ = 6, then the value of (ab + bc + ca) is,

Fira +b2 +c2 =143 a+b+c=67, dr(ab + bc + ca) F AT FATE ?

Options:
1) 11

2) 12
3) 13

4) 14
Correct Answer: 11
Candidate Answer: 11

Question 66.
If E—FE: 1, then the value of a® + b is
1

uﬁ§+§=1,a’ra3+b3 FT AT FIT 22



Options:
1)1

3)-1

4)2
Correct Answer: 0
Candidate Answer: 0

Question 67.If O is the centre of a circle of radius 5 cm. At a distance of 13 cm from O, a point P is taken. From this point, two tangents PQ and PR are drawn to the
circle. Then , the area of quadrilateral PQOR is

IfE 0, 5 A.A. AT gool &1 Fg o1 O F 13 A, & gl ), vk g P foram aram §1 56 g @ gy & &Y vt T@¥ PQ 3R PR &ielt Sireft 1 Y, wrgsfst PQOR a7 &Ykt
fhcatT grem ?

Options:

1) 60 cm?

60 T.#.2

2) 32.5 cm?
32.5 q.#.2

3) 65 cm?
65 &.7.2
4) 30 cm?
30 A2

Correct Answer: 60 cm?
60 A.37.2

Candidate Answer: 60 cm?
60 A.#.2

Question 68. A, B and C are three points on a circle with centre O. The tangent at C meets BA produced at T. If ZATC = 30° and 2ACT = 48°,then what is the value
of 2AOB ?

A,B 3l C g O aTel gea W Feud et g §1 €< X@M C, BA I T oo FalU et W) fHefell 1 If& LATC = 30° 31 2ACT = 48° 81, A 2AOB &1 | FT & ?
Options:

1) 78°

2) 96°

3) 102°

4) 108°
Correct Answer: 108°
Candidate Answer: [ NOT ANSWERED ]

Question 69.If 3sinB+ 4cosB = 5 (0< 6 <907 ) then the value of sin@ is

Ife 3sinB+ 4cosd = 5, (0< 6 <90°) g, T sind T HIT FAT 19T ?

Options:
1)

Correct Answer:
3

5
Candidate Answer: [ NOT ANSWERED ]



Question 70.Two men standing on same side of a pillar 75 metre high, observe the angles of elevation of the top of the pillar to be 30° and 60° respectively the
distance between two men is

TF 75 AL 3 TR & 0F IR T3 o afFd @o¥ F M &7 Iee1aeT o1 HART: 30° R 60° T@d &1 At st & o1 gt fpesr § 2
Options:
1)

100 +/3m

100+/3 .
2) 100 m
100 #r.

3)

75

V3
4)

25¢3m

#.

2543 .

Correct Answer:

100+/3m

10043 1.
Candidate Answer: [ NOT ANSWERED ]

Question 71.The difference between compound interest and simple interest on Rs. 5000 for 2 years at 8% per annum payable yearly is

8% af¥eh aX u¥ (a¥ #H 3) 2 9 T Rs. 5000 WX ThgTe ST R FUROT 47T & drer fheTaTT 3feal & ?

Options:
1) Rs.30

2) Rs.31
3) Rs.33

4) Rs.32
Correct Answer: Rs.32
Candidate Answer: Rs.32

Question 72.The given pie chart have shows the spendings of a country on various sports during a year. Study the graph and answer the following questions.

T a7 grg-aré F TR &1 7 e Wolt R v a¥ o7 Wt o a2 €1 59 I & e Ao 3R Reafafa ueat & 3cak S |

L

If the total amount spent on sports during the year was [ 15,000,000, the amount spent on cricket and hockey together was

I a9 & Well WX Fer 0 15,000,000 & A @< v 378 A ke 31 1T ot AR factett iy @< v a7 2

Options:
1) 6000000

2) 5000000
3) 3750000

4) 7500000
Correct Answer: 6000000
Candidate Answer: 6000000



Question 73.The given pie chart have shows the spendings of a country on various sports during a year. Study the graph and answer the following questions.

U 1T grS-T1e I foRadr &1 F Aot Well W v a¥ o @ fe@mam a1 § 1 58 I ol 31T hiferd 3R FeAfaf@d geat & 3cax e |

L
If the total amount spent on sports during the year was (1 12,000,000 , how much was spent on basket ball ?

I a9 & Well o Fer 0 12,000,000 & MY @ ¥ 978 A Ahedter R el AR @ Hr a7$ ?

Options:
1) 1250000

2) 1000000
3) 1200000

4) 1500000
Correct Answer: 1500000
Candidate Answer: 1500000

Question 74.The given pie chart have shows the spendings of a country on various sports during a year. Study the graph and answer the following questions.

T 1T grg-are #F Rl ¢ 7 fafdesy Felt R v a¥ o1 @l femam a1 &1 59 I 1 e Ao AR AeAfaf@a ueat & 3car S |

L

The ratio of the total amount spent on football to that spent on hockey was

ealel & fAT T 1 a1 et TR T glhT 9T T Y 7S oot TR 7 31eTTeT 7T A7 ?

Options:
1) 1:15
2)1:1

3) 15:1

4) 3:2
Correct Answer: 1:1
Candidate Answer: 1:1

Question 75.The given pie chart have shows the spendings of a country on various sports during a year. Study the graph and answer the following questions.

U 1T grS-T1e F foradr &1 & Aot Well W v a¥ o @ @ a1 § 1 59 I ol eI hiferd 3R FeaAfaf@d geat & 3cax e |

L

What is the central angle for the tennis .

AT & o 7 FHioT sy 3T ?

Options:
1) 36°

2) 63°
3) 33°

4) 66°
Correct Answer: 36°
Candidate Answer: 36°

Question 76.In the following question, out of the four alternatives, choose the word which best expresses the meaning of the given word and click the button
corresponding to it.

SYCOPHANT

Options:

1) PSYCHE

2) FLATTERER

3) CRITIC

4) SLAVE

Correct Answer: FLATTERER

Candidate Answer: [ NOT ANSWERED ]



Question 77.In the following question, out of the four alternatives, choose the word which is opposite in meaning to the given word and click the button corresponding
toit.

FORLORN

Options:

1) JOYFUL

2) LUCKY

3) FORTUNATE

4) FREE

Correct Answer: JOYFUL

Candidate Answer: [ NOT ANSWERED ]

Question 78.Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word and click the button corresponding to it.
Options:

1) Separate

2) Saparate

3) Saperate

4) Seperate

Correct Answer: Separate

Candidate Answer: Separate

Question 79.1In the following questions, one part of the sentence may have an error. Find out which part of the sentence has an error and click the button
corresponding to it. If the sentence is free from error, click the "No error" option.

The book, being written (A) / in simple language, is suitable for children (B) / as it contains many good advices. (C) / No error (D)
Options:

1)A

2)B

3)C

4)D

Correct Answer: C

Candidate Answer: C

Question 80.In the following questions, one part of the sentence may have an error. Find out which part of the sentence has an error and click the button
corresponding to it. If the sentence is free from error, click the "No error" option.

You are the man (A) / who have (B) / spoiled it (C) / No error (D)
Options:

1)A

2)B

3)C

4)D

Correct Answer: B

Candidate Answer: A

Question 81.In the following questions, one part of the sentence may have an error. Find out which part of the sentence has an error and click the button
corresponding to it. If the sentence is free from error, click the "No error" option.

Everyday new inventions (A) / is make (B) / for the good of humanity (C) / No error (D)
Options:

1A

2)B

3)C

4)D

Correct Answer: B

Candidate Answer: B

Question 82.The sentences given with blanks are to be filled with an appropriate word(s). Four alternatives are suggested for each question. For each question,
choose the correct alternative and click the button corresponding to it.

The man was his deafness
Options:

1) rewarded for

2) cured of

3) convicted by

4) saved at

Correct Answer: cured of

Candidate Answer: convicted by



R L e L LI R S U T T OV AT I AT

Candidate Answer: To be wise beyond his years

Question 86.In each of the questions, four alternatives are given for the Idiom/Phrase. Choose the alternative which best expresses the meaning of the Idiom/Phrase
and click the button corresponding to it.

A wild-goose chase
Options:
1) A fruitful search














